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Question Number : 1 Question Id : 4771873213 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rakesh, a Class-IX student is actively involving in eo-curricular activities than
curricular activities. This relates to

QETUSTLD su@HLIL WrsmrsusarTer @rrGssay ssvall GlFwsoursn aill F)snenri
UTL S L F GlFwsburigsd FHUTEGLT® uskig GlsTsrEnmsir. 35
RsrLursTsl

Options :
Inter-individual differences

ST SEhdsEH B)emL Guwrear Gsunjum

1. #®
Intra-mdividual differences
Favt] B &HsTEsm 2_sirer Gsumiuim(h
2.
Both inter and mtra individual differences
SatT SehdEH @)L Cuwrer Ssumur® wHMID ST WTe 5 5Hb & sTSsm
2 _siremr Gsumiuim(h) () rewT (b
3. %

Neither mter nor intra immdividual differences

ST SEehesE Gl Guwwrser Caunur® wHnID SeITe 5 e EsrSsm
2 sirer Gaumiuir® &) rewrHib @)svsmsv



Question Number : 2 Question Id : 4771873214 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT principle of child development

BLpHsnS suemi & uHPIL BlETsTsmeTHsifish SOUDTaTSH| sTHIblausTd HemrL_mls.
Options :

Development proceeds from general to specific responses
ausTT FFWTar g 6lLITSHIS I D)6l (HHH HeolHIm NIs@HF bl FsOsILD

1. #

Development follows the principle of interrelation

) % sUSTT FFIWTATH Sevf bUTHEHES G ewLGuwrer Gsrfsnull Llsrunmnib
Development proceeds in the direction of the foot to head

susmiFFwrar g sTellsl]FHg Semsvsanit CHTEH W FlswFuilsv BlFsvaib
3.9

Development exhibits lack of uniformity in the developmental rate of a
child
ausTT FFAWTATH P HUbensuilsT sustiFF ailsls55l0 FTrar Blanssnild

&.Wl'_l_n'gj



Question Number : 3 Question Id : 4771873215 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the periods of development given under List-A with stages as giver

under List-B with respect to Erikson’s Psycho-Social Development Theory

sTifl& a6 2_6m Fopsallisy suswi #6145 Cariumigsituig suflsns-A uflsd
GlaTHSSIUL 19[S G sausmiFF sTeUSL_L S5 surlsns-B ullsv
RaTHSSILL 19 (HHGHWw L BlansosGerT(h BILUTHSH5.
List-A List-B
auiflema-A suflsms-B

Period of Development Stage
P 2

(susmir&d smevsEL L 1b) (ug Blemev)
A)  Birth to 1L vears i)  Initiative Vs Guilt
3 <
Apoisd mps 15 werGarBUy Vs Gpp 2 swrisy
5, T () FH6IT s am T
B) 6 yearsto 12 years 1) Autonomy Vs Doubt
6 gy ey sdl B 12 SeirarTL_F Vs 558551
9, T () 6iT s am T
C) 3 yearsto 6 years 1i) Trust Vs Mistrust
3 gy, ey 6f(HHH © plbLl&Ems Vs gsu poLilsans
=, T () FH6IT sUemT
i - T P S iv) Industry Ve Inferiority
. !
1% oy iy sl B 3 Y Glariflsd BIC b Vs smipsy
%m@,ﬁw AU T LD 53T LI LI T 65T 6 LD

Choose the correct one
FRwTam spsitenns CHTHESHEH
Options :
A-i, B-iv, C-1, D-1
1. ¢

. A-1v, B-m1, C-1, D-n

A-111, B-iv. C-11, D-1
3. %

A-m, B, C-1v, D-n
4. %



Question Number : 4 Question Id : 4771873216 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development
of a child

2(F FHHengwilsit susrtdF wHmiub Cuiur® US55 SQIDTaT Fmhsmnd
SenTL D)%,

Options :
Development 1s comprehensive than growth

Guibur® susriFFlsmiw ailL ail flsu s

Growth includes guantitative aspeects: development includes both
q P P
qualitative and quantitative aspects

QST &5 sTENTEMTETeNEUS Fn 1) HeMaTa blETamTL ). SwbUTH
STERIT SO STEMEU S Fn IH6IT LISHTLISTENEUS Fon 1)) B 6T @u’@fm’ml_q@w

Gls TS

Maturation and environment influence child’s development

Gubms uilsr sueriFFullsd WpHTFFub FHDNIFHLID STEEHMS
THUBSSID

Growth 1s comprehensive than development

v ausmiFF Guibur s afll aflflsurars)
4,



Question Number : 5 Question Id : 4771873217 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the correct statements regarding the role of
heredity and environment on child development
2 Hubenswilsr ausriFFAuilst wrysulfl wHmID FDnIFELwsdleT LB SeaflsnLL
unyl FHwTeTr s nni%snsril Lilsitsy Hauarsun sl mh a1 el pls
A)  Heredity plays a role in physical development of the child
25 GHLphsnsuilsit 2 1 sofglwmer susriFFuilst wrysulflds s nissT s
LIGIE suslSHlsiTmSI.

B) Environment plays a role in the emotional and social development of the

child

P26 GHUHmsilsT susTidF wHMID Faps GUbUTL g FDHMIFSHPD P(H
LIl suSBlSSlsTmS.

C) Development is the product of environment and heredity

s s FFWTTHI FDHMUFFH LY LHDID TLsulfls Fa st sph ailsnsriiwsir.
D} Learning and maturation influence development of the child

25 FHLphsnswilsit susrtFFullsd sNHDL WHMID WPSITFF FTEE5mMB
sTHLI(R) S S B65T 6.

Choose the correct one
FrwTeT psitenns Ca1H 0S5 MHS5
Options :
A . C,Donly

- A, C, D w_(Hibd

B.C.D only

B, C,D wi (i
2. %

A, B, Conly

" A B, C LDI-_I:'_F-J‘.'LD

AB.CD
4. v



Question Number : 6 Question Id : 4771873218 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to
perform the problem independently. According to Vygotsky, this 1=

i g Aflsnw om wrsnralluilsr wrsallLmi rFFmaruilsy sTeisurm
BLB3IGsTsTer Gausnr(PIb sTedTLZ HDISH 2 sai GlFiFnri. Usrert 2bs
wrsnred] STarTTsGa HeiTenard Heuatshis CISTsTSHL Blemsoulsy 2bHs

2 saifleniud GSTEHhFILESTEHFILTS BNISSHS GlSTaTH DT,
allwrGsmisafluilsiruy @55 Blemsw

Options :
Scaffolding

FrrdhsLl (hgHsDd

Fading
LD Bl FH 61
2.
Shaping
. susmiFFWsnL_ WS 6Gl5TL Bl FHH6
3.
Guiding

sulfl ST (RS0
4. %



Question Number : 7 Question Id : 4771873219 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per Kohlberg's Theory of Moral Development, in this age. the child behaves
with obedience for avoiding censure by higher authority or social systems.

Gsrapsy Gluirsslsr HDGBY suaridFls Cariuriigsituy @)bs suwBlsd
BHsns GlursuTssr ssvd Fps (PMHDSETT) STy HSIUMHMNSS
SHaliltd@GHn ausnasulls) LS55 GlsTarangl.

Options :

4 to 10 vears

| % 4-Reopsl 10 gemhHsesr

10 to 13 years

10 -@)eflmBa 13 =y s07 (B FHsir
2.

3 to 8 years

- 3-3)60HH3 8 =y 0T (% EH s

8 to 13 years

8 -l mps1 13 B\ e
4. %



Question Number : 8 Question Id : 4771873220 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Wechsler's Block Design Test. Picture Arrangement Test and Object Assembly
Test belong to this type of intelligence tests.

GlausiuFsliflsir sL_snL aulgsu GFrgenar, UL HHSH GFrsamear GlUTHmeaT
T CFisFHh CFrsmer oy st ()HS a1sH S I TSI HI6HTswT 1 o F
CFTHMATHETT(FHLD.
Options :
Verbal
GlimiflFEri

1. ®

Performance

- GlFuwsd Fmssr

Paper — pencil
ST — 6T HICHT6L
3. %
Projective tests

. YnsEsnnF GFrHsnent
4,



Question Number : 9 Question Id : 4771873221 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who defined the personality as “the dynamic organization within the individual
of those psycho-physical systems that determine his unique adjustment to his
envirgnment” ?
2, 5IHEMLD 6TEITLIGH] §p(H ST ILITSITI6IT 2 6T —2_L 60 (Lps® D 6ITI6IT §p(F H6 | ILITSIT
FNHNIFHLNSHS SEHUTN FlenFaurs BLHFH GlETsTsr sulfleu@HSAImaH" sTerm
2 smemioll un )l allersSlwsut wri?

Options :

Hillgard

s T

Raymond B. Cattel

rriiwsnr L1.s0 G sb

Allport
3@ 2 sOGLImiL
Carl Jung

4 % HTT a0 2l



Question Number : 10 Question Id : 4771873222 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-X completed student wants to continue his study and at the same time
wants to join work to help his family due to socio-economic condition. The
conflict being faced by the student here 1s
USFTID au@GLemU (PI3 55 p(h LTenTausiT GISTLTHSl LigsHs el (HLDLSH D TsiT.
G5 FWSH 0 SaTH (& HILUSSHI6T Feyps- GIUTHETTSTTF @10 Blem s il sir
STTeMTLOTS HHLUSS DS 2 SausnNsTs CausnsrsHF GlFsvsw afl(Hibysl prsir.
B LTemTaUST THIT BB T6TEHLD FlHHsD

Options :

Approach-Avoidance
9] 67 60-61il60 FH 6D

1. #
Avopidance-Avpidance

allsuss0 - sflsusstd

Approach-Approach

s ¢ SO S@ED

Double Approach

Bl g iy aflsossy
4. %



Question Number : 11 Question Id : 4771873223 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements regarding the methods and approaches of Child
development
GPBms susTi S (pswp wHHID eGP D CISTLIUTST FTluTer & hHons
Caiholshss.

A) Case Study Method is not applicable to an individual

SfILIUL L g6 1psnD (H S TERS G GIUTHESTHI
B) Introspection Method lacks reliability, validity and objectivity

2 sTps CHTHF Wwemmuilsd, HFIOUSSH6TsNLD, STHL{SHLD WHMILD LjD &I ILISHLD
B)svsmesu.
C) Observation Method can be used to assess the behaviour of an individual

1 natural conditions

2 BwsbuTeaT @HLWpedlst p(h SaTallsr BL SmBamil sraill_
2 HNIGHTESESE) (PsHMeN WL LILSTU{HSS0TLD.
D) Experimental Method advocates the study of behaviour under completely

uncontrolled flexible conditions
(Wpagsm W Ter U ROUTrLHm wHmnib BBSpaursT @&psisd BLSms
S lisned BL 55 CFTHmaT (1psmm susdliynidH5HIFE gl
Choose the correct one
Frlwmer psitsnnd CoTH0ISHES
Options :
ABCD
1. #®
A, B, Conly
5 % A B, C w(pub
B.C 0111],'
B. C w_{ib
3. ®
A, C, Donly

A C.D w (b
4. %



Question Number : 12 Question Id : 4771873224 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Decision making, Problem solving and Logical thinking belong to this domain
g BleuRsH60, FEHe) ST HH60, HTEHT S WTHEF FHF $F50 GUTeiTDar FH55
FeTHmHF GFTHFHeme.
Options :
Psycho-motor
GlFwm HewLd
1. #
Cognitive

o 9|6y SHeTLD

Affective

2_GWITIT 61 S 6TLD

Conative

sT(LpFFBSHaTID
4. %



Question Number : 13 Question Id : 4771873225 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify those that are relevant to learning

LilsiTeu (Heusareu M Mledl HH S SHD&S HSH CSTLTUTaTsuDsN DS ST 1S,

A) Unlearning is also considered as learning

SNHTs0 B)(HSSID SNDOTHS HHBLILGS DS
B) Learning is a product and not a process

HNMsL sTaTUFI p(F allsmsrLisit, GlFwsdipsnmn 2jsvs0
C) Learning prepares an individual only for any maladjustment

SN P/ SHTWTT sTHhSM S pFlemFallDFh 2 L siTULTH susnsuilsd
FWTTURS5S DS

D) Learning results in behavioural change through practice

snmsv GlFl uulHAullsT sufliurs HLSmS THMNSSH NS T LI siT
ailsmemrsy.
Choose the correct pne

Frlwmer spsirsmpd CoTH0I5HES
Options :
ABCD

1. #®
A.B. D only
A B.D wr@uw

A, B. C Clllly
A B, C o @pw

A . Donly

A D wd mHib
4.



Question Number : 14 Question Id : 4771873226 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the items in List-A with the needs they represent given under List-B

suflsma-A wilsb @)/ G mniSsner 56T GHensussmeard ST (HIb surlsnF-B

uilsit £1p @) HLILsTUHEDTH GIUTHSSHIS.

List-A
suiflema-A
A)  Elders support

U IS TETeUT H6IT S HT6Y
B) Social status

FOPH

C) Sleep
HTHELD

D) Affection
&1 T FLD

Choose the correct one
FriwTer psitennsd CHTH OIS HES
Options :
A-m, B-1, C-1v. D-n

1. ®

A-11, B-1, C-1v. D-m1
2.

A-11. B-11, C-1v, D-1
3. %

A-iv, B-m, C-1, D-11
4. %

i)

iii

1v)

List-B

sunlem&-B

Esteem needs

2 Wi GHemausmsiT
Safety needs

UTHISTOLS CHemeussir
Love and Belonging needs
SjsiTy WwHmID 2 flw

G5 meu 6T

Physical needs

2 1 50 G5emeussir



Question Number : 15 Question Id : 4771873227 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the correct sequence of the steps involved in

learning process

Lilsiteu HeusmsuMmist, SDmst  GFwsvpsmmem 2w FHlwurer Uy Blane
suflenFemiLS STl T5.

Options :

Goal, Motive, Overcoming obstacles, Achieving desired behavioural change
Blsvdk(g, emssID, Mol BN punHFSH60 all[{LUSF5ES BLSMS

" LTHDSMS ML 60

1.

Goal, Overcoming obstacles, Achieving desired behavigural change, Motive

Blsosim, smLsmw D punFsss ol (HLusssEs FLSmS WTHDHmS

SML_FH6D), DS FLD

Motive, Overcoming obstacles. Achieving desired behavioural change. Goal

& &, L N puhHFASs5s) allHLuUssEs BLIHMS WTHDSMS
- SsmL_560, @)s0E 3,

Motive, Goal. Overcoming obstacles, Achieving desired behavioural change

sarg &0, [B605 &, SemLsni W punHFAS55:0 alHLUSSES BLSMSH
LTHDSHMS JsVL_SH60
4.



Question Number : 16 Question Id : 4771873228 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the factor of learning which 1s associated with Men and Material
resgurces

L6sf|H6iT WHmID GlUTmsT suaTepsVEGHTH GISTL I I $HD0 T Tswilsnils
HewTL_M)%.

Options :
Proper seating arrangement and peaceful environment

(psmwTeT (B)(HHEmS sl WHNILD 2sHDSIITET & DIF &L
1.v

Linking the recent learnings with those of the past

sHCUTENSILI SDHD6L 0 MISMET (LPHNSIL HNHD6D FnM)i%SemT(H

AE B BEOEE T
2. %
The basic potential of the learner
_ SNHEUTTIST ZylilisnL 2 &TerTihs 20N Mns

The level of aspiration and achievement motivation

silsmipay Blsws WNHMID BYsHL 6 26T 51D



Question Number : 17 Question Id : 4771873229 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the theories given under List-A with the basic principles given under
Last-B

auflens-A  wlst  GlarRsstulymésHn  Gariurhssnst suflens-B  wilsd

Glarhsslul iy mS@HD Yy liumL s blsrirenssGarTh GlUTrmHSSHI5.

List- A List —B
suflems - A suflsms - B
(Theory) (Prineciple/Laws)
(Casmumr() (Q&merems/ailg)ssir)

A)  Operant conditioning 1)  Learning is based on the principle of
FHTewrL_60 6T 1) & asspclation and substitution
Gg’rﬁﬁyﬂb SIVEBIH6D &) D& TEIT ) @gn'l_rfrq LHMID WwrHmnis
BHP ﬂ&'ﬁ]ﬁuu{gjggﬂj Bl TsiTemHH M & Sy LsNL_WTHSH

Gl&TenTL_ g

B) (lassical conditioning ]_1) Stamping 1n correct responses and
Ty F3 955 stamping out of incorrect responses
Blems0 IS5 Flwrer ailenL_uilsd 2wpsHHHe0

FriwlsauTs allsnLuilsd gupssTenLo

C) Trial and Error iii) Emphasis on perceptual

pWsiTn] Heumlé SnHmsv regrganization

YsVsm)ieyd HMsiT nIF TenilisnL
susfliymis e

iv} Emphasis on response rather than
stimulus

HTEHTL D60 sl FHI60BIH6M 60

suefluymi5 50
Choose the correct one

slwmer allsnL_Glwsitenns Co51H 65 HES
Options :
A-1m, B, C-1
1. %

A-iv, B-1, C-n
2.

A-iv, B-m, C-11
3. %



A-m, B-iv, C-1
4, %

Question Number : 18 Question Id : 4771873230 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the
student reflects this step of social learning.

P(H WHSTLD 6u(GLIL TsMTsUT, 2 T BlewsvLILIsTaT] LoTemTsui 6T Lisirerwilsh
RFiizs CariL Gsusnsvsnwwd LuifHSsmsoujid 2 HNIS SausSSTIT. 2 ausiT,
9jsusd] afL_1g60 LLFGIFIyHemer BLL TeiT. 9hF LTsmTsusitisir 3565 HL algHens
Fapsd snHnedler Uiy sufienFsml Hralusflsang.

Options :
Attention
. H6W1(LpsM D& H6UsHTLD
1.
Performance
BlFws B mysir
s B E3)

Reinforcement
SUSY AL L 6D

3. 0%
Retention

;_r;ci;aseu:-ﬁuuq
4. ®



Question Number : 19 Question Id : 4771873231 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the aspects that can be transferred from one

situation to other situation of learning.

LilsiTeu (Heusraummlsy, p(f Fwnl SHMeD Blemavullsd pm &LpadlsllHHaHl F)sirelarTm
HLYSE LTHDULL S 1§ W
A) Habits

uhgéadﬁrijaas'rr

B) Knowledge

9| pley
C) Skills

B D 63T H6iT

D) Feelings

L&'ﬂ'ﬂ'l’.-’i’ﬁl!r:’ﬁﬁ'i}'
Choose the correct pne

Frlwmer spsrsnnd CHTH0ISHES

Options :

A; B €. D
1. ¢

A, C.Donly
A C.D @

B. C. D only
B.C.D o (pib

A, B, Donly

A, B.D w G
4, %



Question Number : 20 Question Id : 4771873232 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-VII student tried to recall the concepts of Class-VI but the concepts

learnt in Class-VII are interrupting him. This 1= due to

$2( STLPTLD 6U(HLIL] LDTENTE 6T, L DTID auHLULY LG5S & (HHHIHESn6T
WL mlw gpwis)ib GUTg), sTpmsd su@lil UTL &da ni%HsT @)enL 1o1)s Sl nsr.
B)F 66T STTEMTLD

Options :
Proactive inhibition

GlSTLBISlF GlFILOLIL TenLD

Repression

2_6iTam(LpSHHeD

Amnesia

wm3 GETii

Retropactive inhibition

LlsitsBislF GlFwsvLL_Tenio
4.+



Question Number : 21 Question Id : 4771873233 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Suggest the aspects which help individuals to improve their memory and
retention abilities
ST H6T $BIHEHNL_ILI Flenamrsu TH DY WHMID SHHMeuGHIS 6% T6iT SHLD
BlwsiswinsFH 2 FAYLD Fn NISHST LDH] CIITFNEIT Fn 1)IBISH6IT.
A) Appropriate motivation

GlLIT (/% DL T6IT 2975 51D
B} Over learning

wems Uiy sHmsd
C) Being more emotional

S FIBLLTH 2_swTT FFUFLIILIL 60
D) Association of ideas

& (B Gl Hei 6T BlHTLiL
Choose the correct one

FriwTsT psitenns C5THES5H S5
Options :
A.B.C.D
1. #®
A B, Conly

- A B Cuw @b

A.B,Donly

. v ABDufo

B.C. D only

B.C.D o fub
4, %



Question Number : 22 Question Id : 4771873234 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students

allmrsy uUbSHSL wWHNID suartiuBS5HIHs0 Gursrn SHovall BlSLpsySaner
Y FATWTSsT @)HF LTwTsUTHememTd & HEHs0 GETeTEhD GuTgy UlsTunmusi

Options :
Gafted

YD NYSSDD 16155
1. ¢

Learning disabled

SHMe) FHsmmUT(H

Physically challenged
2 Ls» Hmpurp

3. %
Slow learners

Gligisurss sHGELTT



Question Number : 23 Question Id : 4771873235 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this learning. Learners initiate and advance thewr learning by more
experienced partners

Bb5 susnss N DL FMestls) 2 Fs sl LISUBIGISTEITL Fnl L Tl 2L 65T
BmeHwGursy sHEuUTT sHmemsy 1psiTGlarHUUF D WwearGarrsslsF GlFss
(LpLg-yLb.
Options :
Insightful Learning

BT GemTT&E]% &M D60

Imitational Learning

GuTsvd HMHmsD

Programmed Learning

GlFwsLFIL L sulfl HHmsi

Guided Inquiry Learning

FlemenrGwTH SHMDL



Question Number : 24 Question Id : 4771873236 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teacher has to follow these steps to improve individual learning among
students

WTsmTeui & EHsEH Bl Guurer saurst sHomsns Gwibubss Mol FHs

Ll Blsmsussnerll Lilsitunmn Geusir(Hib
A) Set clear and specific goals

Glssloursr Safl55 (360 HBMET & sNLDSFH60

B) Make goals dynamic with revision at regular intervals

BlsvdHHameT G NMeD sUTLHSSTHLD FTTar Srev [3F)smL Glsusuilsy b

wrTH im0 H60
C) Involve parents

CuHEmTenT FHUbSH60
D) Let students own their progress

LD TERTUT H6T HBIFET (LPSTeMTNDHMHSH HTHEISGaT B 6507 L] 5560
Choose the correct one

FriwTeT patenns C51H 0S5 MH S5
Options :
A, B, Donly
A B, D w @b

A.B.Conly
A B C w @

A, C.Donly

A C.D w (i
3. %

A, B.CD
4. v



Question Number : 25 Question Id : 4771873237 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In SQ3R method. the learner has to follow this sequence
SQ3R ysmpuilst, sHGuTi F)Hs suflswFwsn wiisnuls Usrunp Geuer(Hib.
Options :
Survey, Question, Review, Read, Recite

HemTa bl (0L, aflerT, wniUTTsns, surd, priLail

1. ®
Survey, Question, Read, Review, Recite
HemrdblsHL, aflarT, surd, wniuriemeal, guLai
2. %
Survey. Question. Read. Recite. Review
o Hewrd 6lH B, allerT, surd, puriysil, wpurTemey
3.

Survey, Read. Question, Recite, Review

senrd SR, surd, adlewT, spriyad], wmuTtene
4. %



Question Number : 26 Question Id : 4771873238 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the Phases of teaching given under List-A with the associations given
under Lizt-B

suflsmF-A wilsit £1p BlarBSs0UUL 1y HEGHL sHUSH0 HLU_L BissnsT suflsnF-B

wilsit £1p GlaTRSSILL 1Y (K G YsunmlsT GlsTLiGur® Gurmss s

List- A List —B
suiflsme - A suflems - B
(Phases) (Association)
(sL_L_migsseir) (GsmLiy)
A) Pre-active 1)  Conducting Group activities in the
(LpsdT- BlFwsd class

ﬁu@ﬂ s Hp 'r_r;r_smq,a's &1 & 61 61T

BL-55IFH60
B) Inter-active 11) Giving home assignments
BewL_- GlFwsd ST () pULIenL_LILLI LIswT] F([HHs0
C) Post-active 1i11) Writing lesson plan
fsir- Qewsd urL gl L& Gl g5

Choose the correct one
srlwrer psrsnns Csih0ls M55
Options :
A-1, B-n, C-m

1. %

A-m, B-1, C-11
2.¥

A-m, B-n, C-1
3. %

A-11, B, C-m
4, %



Question Number : 27 Question Id : 4771873239 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following strategies has less scope to promote group learning
among learners?

LilsiTeu(Hib 9emIGHApsnm 2 _SFsailsh spsirm sHBurtlsnL_Gw Gubu®)szisuzlsD

SUTIILIL] FsmDeTams] 7
Options :
Discussions

| allsursid

Brain storming

PLOEW 61T &6 F B 61)

Lecture cum demonstration

" aflflsaysnr wHmib GlFwstallsTssn
3.

Seminars

& (HHSH TR HLD



Question Number : 28 Question Id : 4771873240 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chooze the INCORRECT statement among the following regarding guidance

and counselling

Ulsiteupld sulflsmiLsiib gynlaysnr USTSID HDISS FmDnISH6rs) HeumTer
FDemDS CHTHESHES

Options :
In directive counselling, the counsellor plays an active role in
understanding problem

Grrgwrer sulflsmi L sflsit GuTs gy layswr & miusut fAssemeors iflhg
Gl&TsTeuglsh (PSEH WL LUBISTHOIS DT

In non-directive counselling. the counsellee plays an active role

aflaT Lsd @svsurs Blemsowilsy, g plajsnT Gausirhlusu UBISTH IS DTT

Directive counselling 1s also called as client-centred-counselling

GErig sulflSTL L 60 suTIgSHensITeTT enioil sulfls Tl L sD eTeTmILD
3 9smIpESLILHS DS

Vocational guidance helps in career planning and professional
development

GlariflsoFri sulflam L sb, ssvall/ uswi] L1l sfinEn GlsTflsd
WPTCaTHDSIDGD 25 FDI-



Question Number : 29 Question Id : 4771873241 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the learning styles given under List-A with the activities given under

List-B

suiflsna -A wilsir £1p GlsT(HSSILL 1Y (FHGFHW SHDL B _snit sutlsns-B uilsir £1p
BlaThHsS0IUL 19 (HE G0 HLaulydhmnssBerTh GIUT(HSHS

List- A List—B
sulsmas - A suflsms - B
(Learning style) (Activities)
(sppsd pemL) (Loug )
A)  Visual learning 1)  Listening to tape recorders
ST Fg Fmsit sulfl sMHmsb spsflliuglayd & Hailuilsr
uglaysemerds GHL L 6D
B) Awuditory learning 1) Understanding Gestures
GlFallaf] sHmsL MFMNBHMETL LTI5H 6% Tairamsd
C} Kinesthetic learning ij_i} Preparing models
Blwussallwsy suyfl snHmnsd wralflsmerd SwTitHss0

Choose the correct one
FlwTeT persnns Cx5iH05MHES
Options :

A Ban, Ca
1. %

A1, B4, C-ia
2.9

A, B-n, C-m
3. %

A-m,B-1,Ca
4. %



Question Number : 30 Question Id : 4771873242 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teacher can promote team work, leadership. conflict management and
interpersonal skills among learners in this type of learning

o Afluir FHs sumswrTsar SHDsOL FupliLswil, SHensvsnodFHisud, FEH6,
GusorsiTenid WHMILD pHauHS6lSTHauHESmLGw Fnsitast sHEUTTlsnL_ G

Cuu®ss pyub.
Options :
Co-operative learning
L [HDeyd HHDsD
1. v
Teacher-centric learning

g FAflwi sniwws SHDL

Self-learning

FSTGAT S0 D6

Subject-centric learning

UTL L&) snDILS 50 D6

Language I Tamil
Section Id : 477187107
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187169
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 4771873243 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

6TL_(h& 6lsTemas uilsh @)L belunmisirer Rremsvs CHinH6SHES.

Options :

i) e
1. ®

LDFIM TS5 TEHF
2. %

B/ BmsT
3. %

Gluflwy rremTiD
4.V

Question Number : 32 Question Id : 4771873244 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SUTil $N5FHD PWDHF UL 6T BTEBleT 9y priorars Gsvsumiil LsDsnsoLs
QuTmBEHIL wpwuhHFAwrsd UnS@Hwn sTupdsHlHsr

Options :

1. #® §.ia

A s P
2.¥

B, T, g2
3. %

2,



Question Number : 33 Question Id : 4771873245 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Flov CBrmISsHs) Flo0 WaTlSTHET TelID HTOISHTHF FTHS55IW HSTOSL] alHa
Glunmeut?

Options :

eﬁ@fn&:ﬂrrg; TFaiT
1. #

TTEoLDh (61 60T 65T
2. %

Gleo &S TH &6
3 o o b6

&- SpafFr]
4. %

Question Number : 34 Question Id : 4771873246 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
all 3 gls6ms HL GIUTMHSSWrer UTsnsOl BUTHS5HI5.

) s,mi - 9)) usuT LT aflsmarTipHm ailFH3F
) i, 2F - ) PETOETLITEY allenempnnl afl 3
) =y, =y - @) Cusrursy aflmarpponl of )
V) =ysir, =y 6T - F ) usvallsirumsy adlmerupnn ail@ s
Options :
| - =y, - =y, -8, 1V -
1.
|- =y, -2, N-=IV-3
2. %

- @, -, - 9y, IV — oy
3. %

-, I1- gy, Ml - gy, IV -3
4. %



Question Number : 35 Question Id : 4771873247 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Gurmpys ClsHHs o 6lruilsy GlnH% GlETy
QUTTSY sTAHTLATELTSY W SHsema STLL — BOuTL sy saflsd G b6lunmysirar
9 50T ]

Options :

. Blwsvey HallmsF 2wl
1.

. Gaupmisnio =y swfl

_ GlummsiT LilsiTeu (HiBlem a0 wiswt]

SHGDUCUDD jswi]
4. %

Question Number : 36 Question Id : 4771873248 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘WEIHT USDNINUSSESTS — Brsdlsr gy fflwi wri?
Options :

L L gOITT Slpmi

CrasalpmT
2. ®

uTEhGFTSH (peaflsut

LisusnTbF] (Lpsafl sui



Question Number : 37 Question Id : 4771873249 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
U SIT EIHEUETT FHsiTemam 2_s&lamEEs — FH5I
UTSTLHLp GlaTeTL SLODHT(H)- 6TETLI LITlg WisuT?
Options :

LT & Wi
1. #

UTT S ST FeiT
2. %

5 63T 60T & T F 63T
3.¢

&1l aﬁﬁruw;_r;rr& 60T
4, ®

Question Number : 38 Question Id : 4771873250 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘BrenTL_svew sTeiTemIlD GlFTsvsmevll LTS5 sTpSS HlsmL_LILIF] ?

Options :

Blrenr® + Lsbsv

e (® + svsv
2. %

Brewr(® + @)svsv
3.¢¥

BT + 9sbsv
4. %



Question Number : 39 Question Id : 4771873251 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘2 paik Casmd’ eTeiTm HIedlsiT gy Anlwii?

Options :

FTHT

Flm.afl.5

4. %

Question Number : 40 Question Id : 4771873252 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘D’ eTeiTen)ib GlFTsbellsiT GlLIT(Hsir?

Options :

1T &) LD
1. %

Gleul_s1b
2. %

Br&EsiD
3. %

Ly HEe0
4.9



Question Number : 41 Question Id : 4771873253 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
UTsms0d Flemswruilsit o rlriGlLIm st
Options :

| BiS51pih
1.

Blmss0 FHH560 BlblSSp
2. %8

par| gL 2arL sV BlHSApLD
3.

Ulflssuib Lifigsv B6ls5wpb
4. %

Question Number : 42 Question Id : 4771873254 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

LS SemeTll UN&STSHT sTeiTLIF)

Options :

o swri&FS Glri
1. ¢

&L Lemerd Glsmi
2. %

Heir allsmensd GlerLi
3. %

silearms GlSTL T
4. %



Question Number : 43 Question Id : 4771873255 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘B sub3BHsiT sTEITLIZ) 7

Options :

LITsU & (LD
1. %

EAL L T T
2.

HTE0 6 {p

Bl euny

Question Number : 44 Question Id : 4771873256 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘6TI15| sTsiTamilD GlFTsD CluJu'TENES g
Options :
sUSITRISTL T4 HDHDs)HTiD
1.

- GoaTEIGTL T @D D 1) HTib

BlsmLs6lsTL TS HDDIWAISTLD

2 WiT56lsTLiS DU IWISTLD

: MCQ Option Shuffling : Yes Display

: MCQ Option Shuffling : Yes Display



Question Number : 45 Question Id : 4771873257 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

'BL eTeiTem b BIFTsD sTelsusmHLI LISTLILISLD?

Options :
Gluwit USTUUSLD
1. #

aflenarl UsTUILSLD
2. ®

@mL_U1 USTUILSLD
3.

2 Ml usSTOIUSLD
4.%

Question Number : 46 Question Id : 4771873258 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘BrisnL & srulliubiSsT sTar gsnipssULhsug]?
Options :

FAotiuglsTrapd wemt G0 emsv b

FoIUSSTTph Fous FHSTLOeNT LD

SUSMSITIL TLISIUYLD (FsworL_s0 &5 Fujib
3. %

wewflGssmevijib Fous Fb S TLoewt LD
4.+



Question Number : 47 Question Id : 4771873259 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

(Lp &6V 6T(DHHIHHET 6T6ITLIGH 6U

Options :

2 uil sTUpSHIH6iT, GO Gl 1S55I H 60T
1. #

v 2 uili sTagSgiHsir, 2 wili Gl sTpS HiHsir
2. i

SHBUISTPID, @D HwslsTpid
3. %

SOFTTH (HNISHSH(PLD, PETHTTSH (FHMISSH (LD
4. %

Question Number : 48 Question Id : 4771873260 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Henfld FHmlsv 1psit pnmi 2 wilfsuflsitr @ ri_(Hib’ sTsitm Yemri F4 ailsl, £1psHs Tamib
6ThHF GlFTeLaHFHL GIUTHSHTaTS] 7
Options :
& LOLp &3T smenT

1. %

el smean
2. ®

(LpsiT 61f 16 61
3. %

wrGsui
4.



Question Number : 49 Question Id : 4771873261 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SHI6TETsY PemF 8y H 2 M
Options :
auEhFALILT

1. #

ST
2. %

g Al
3.

Gleusimum

Question Number : 50 Question Id : 4771873262 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Folk Literature — sflwrer ssnavFblFrsvsnsd GHiHoI5MHSS.
Options :

BlFsuailsud HLn

Baf e (3 sud S LD
2.9

srothu F)svsSlwib
3. %

BT (HOYyD @sosshb
4, %



Question Number : 51 Question Id : 4771873263 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

B)smTmI & LTL LI(HeULD sTaiTLIS] susnTlle0Tar L (Heuld

Options :

12 s 15 anwigy
1. v

16 pssd 18 suwgy

2. ®

3 psHsv 6 auwg)
3. 0%

6 wpzsd 12 auwz)
4.%

Question Number : 52 Question Id : 4771873264 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SpSEBTTem S GlBTeTens WTHL 6T BlFTLTLsHL WF

Options :

Grrars
1. v

Gz &l msvent epiHH)
2. ®

spmiflsiv SisiLsiT
3. %

HTHBILILG F 6T
4.%



Question Number : 53 Question Id : 4771873265 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

P(H SLsmeu UTTULS s SenrLpl&lsitn BlFmsy Gl5T S sm i aTaIrLIT
Options :

ST BT FF

1. %

SHemT LT IFFel
2. %

L T EDIBA0

FHEIT & TE0IT S 66
4. %

Question Number : 54 Question Id : 4771873266 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
weraflun CETLuThHssnsr 9 Femar sustlunissiu o HlehtsGarmH GluTHHsHs5.
)  swiliy Blewsvd GlFHTsTens — ) T suTL_F6ir
) GlFwsd Blemas GlETsTens — =) 2aTamTL, 1§ FFaTT

) BLSMBHS GlmTsirens — g@} sorerhull, Gobs erghFst

Options :

I— =y, Il - =y, 11l @)
1. ®

==y, 11-@), Il - o
2.

1-@), 11 - o, Il - oy,
3. %

-3, 11 - 3y, Il - sy,
4. %



Question Number : 55 Question Id : 4771873267 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
LsiTai & smib Fepaspld (Schools and Society) ersirm mrsdlsir oy Fflwi
Options :
YG&rm Glusd

1. #

“ HTH B ILILg 6T

2.
wrewry GFir
3. %
o meiT(fuil
4, &
Sub-Section Number : 2
Sub-Section Id : 477187170

Question Shuffling Allowed : Yes



Question Id : 4771873268 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (56 to 60)

CarhHssuul_Dsrer USSlamils SauaTrsll Uiy ss allarrssends @ allsn L weflssa)b:

suliflens BlusssFlsT FSHews srern SGurmDUUBD UlTETID STy ST
CssitaTHEE mEsWsTer FTbusuT suLsewr sTedtspid  Anmrrlsy  Umbgsur.
BersnwwilGauB YsmsliuL S5sms0, fFFbsme, GFTaILLD, WwHsFHsub, Fams o Fw
slsmmsafisy  GlumallpUubGsTaTH, GBID &lmLsEGh GuUTGlHsbsTd 9y HeiT
BIL UsiEensrll Lullesrpri. Slenr(hidssvadlsy g ANrral usmiurmnbGurGsr, f55
W HbHSHIUS S0 FTw 9 nley GClUDHI) D& HeTTs Gy siTLL 6T Lisir(Rsui (L(FHHI6u) sTsiTmy
SmpssIULLTT. fsv gy enrhssr usmiwrHwllsT gens allhssl (PupsPLLTSF
#5535 WEHSHUSFH60 Seuard OlFasFlarTr. FepensFullsdd GHuGwDlearTi. waHHsT
SeuemTll  UswTipsT  eTewr  9swpsSss  LisTLmEAlswi.  uswsnLd  SUD
BTsUSM6TEILSVSITID SIp6H DM, FuEs allFS T WWSETDaT FRSLD TeTsyb
SmlsnU 2 [Haurssl, Swgh LFrpss GFwalGuGuw  sulifltns wTBTHSST
BLSIOTTT. YmaTsAHIIL yeTaisd BLES &snF WTHTHSERSHHFHD GlFssTn
2_smrwrnylermi. geumen il F)snF55L001p5 6% Tainriy siT FHTLD ‘S (HenrTli S FTSHTLD .
sTpUSBHTremTHs6r suTpheH S0 1pdH5 GlsTem® GFuissut g uilrsmb sty ST.

Sub questions

Question Number : 56 Question Id : 4771873269 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 UTsTD uaiTy S sTelsurny GUrHDLLL L Ti?
Options :

sUlflenF BsEHEB 6T STSST
1. ¢

SUIDSSTSST
2. %

suliflens @553 60T 2 svarsmT siT
3. 0%

50w Qusss3eT 55m5
4. %

Question Number : 57 Question Id : 4771873270 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
g Ulrsmb usiry st nks &)L 1o

Options :



A IOEEEY
1. %

FTlbUsUT sUL_Ham
2. %

Ty 6l F
3 Sbho

B mFF
4. %

Question Number : 58 Question Id : 4771873271 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2 UlTSTID LTIy 5T e (HEHs0s0 60 o HTIIL Ligwt

Options :

LemBLILIL & HemeDEhi
1. ®

PLHBT
2. %

o Frlwit
3. %

2_1pay
4.9

Question Number : 59 Question Id : 4771873272 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 Ulrsmb UsiTIy ST suTIphHS 2,607 (ST

Options :

e T

T2
2.¢

61

81



Question Number : 60 Question Id : 4771873273 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

& ([EWTTLOT S FTHTLD

Options :
BTL 5%

1. %

Blemss

3 wsv

BEF)

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

SUpS GlSTenTIy 6T FHTID

Language II English

477187108
3

Online
Mandatory
26

26

30

0

1
477187171
Yes



Question Id : 4771873274 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station (ISS) is a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia,
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station 1= approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget, according to the
agency s Office of the Inspector General.

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space station 1s allocated to different space agencies based on their financial and

other resource contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771873275 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to various

space agencies based on the following contribution.

Options :

. soclal service-related
1.

environmental

finanecial and other respurces
3.4



educational

Question Number : 62 Question Id : 4771873276 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continuous human presence since the year

Options :

| w 2022

- 2000
1998

3. %

e 2011

Question Number : 63 Question Id : 4771873277 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement about the International Space Station (ISS).
Options :
It 1s a multinational initiative and the smallest single structure ever

constructed by humans in space.

1. ®
It 1s a multinational initiative and the largest single structure ever
constructed by humans in ocean.
2. %
It 1= a multinational initiative and the largest single structure ever
3 constructed by humans in space.
It 1s only NASA's mnitiative and the largest single structure ever
constructed by humans in space.
4,

Question Number : 64 Question Id : 4771873278 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. #
Russia
2. ®
Japan
3. % P
The United States of America
4.+

Question Number : 65 Question Id : 4771873279 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA). the ISS operates as a collaborative

program of the following.
Options :

Europe, the United States of America, Russia, Canada, and Japan
1.

Europe. the United States of America. Russia, India. and Japan
2. %

Europe. the United States of America, Germany. Canada. and Japan

3. %

Europe. the United States of America, Russia, China and Japan
4, ®

Sub-Section Number : 2
Sub-Section Id : 477187172
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771873280 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display

brought books to the librarv to study together.

Choose the correct option to complete the sentence.
Options :
They. there

1. ®

There, their
2. ®

Their, they

They, their
4. ¢

Question Number : 67 Question Id : 4771873281 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two sentences.

Sentence A: She came here to studyving at the college.

Sentence B: She came here to study at the college.

Choose the correct option.

Options :

Only the sentence A 15 correct.

1. #

Only the sentence B is correct.
2.

The sentences A and B are correct.
3. %

The sentences A and B are incorrect.
4. %

: MCQ Option Shuffling : Yes Display



Question Number : 68 Question Id : 4771873282 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

| % fastly

quick
2. %

3 @ quickly

slow
4. %

Question Number : 69 Question Id : 4771873283 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the funection.

Complete the sentence with correct option.

Options :

gave away
1. v

gave up
2. ®

glve up
3. %

ave back
4% B



Question Number : 70 Question Id : 4771873284 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obev you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obey you unless yvou talked to him politely.
1. ®

Sharath will not obey you unless you don't talls to him politely.
2. %

Sharath will obey you unless you talk to him politely.
3. %

Sharath will not obev you unless you talk to him politely.
4.

Question Number : 71 Question Id : 4771873285 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.

1. %

The car was being driven by my brother.
2.¥

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. ®



Question Number : 72 Question Id : 4771873286 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me yvour cycle.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his cycle.

1. %
I requested my friend to lend me your cycle.
2. %
- I requested my friend to lend me his cycle.
. My friend requested me to lend his cycle.
4,

Question Number : 73 Question Id : 4771873287 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he is right.
Identify the meaning of the word ‘abundant’.

Options :

ample
1.

meagre
2. %

minimal
3. %

geant

4. %



Question Number : 74 Question Id : 4771873288 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

His knowledge of history 1s profound.

Identify the opposite meaning of the word ‘profound’.
Options :

gincere

1. #
scholarly
2. ®
3 % erudite
superficial
4.

Question Number : 75 Question Id : 4771873289 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The study of birds is called

Options :

anthropology.
1. #®

ornithology.
2. ¥
2 % zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771873290 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom ‘a dark horse’.

Options :
A wild animal
1. #
A black horse
2. %
An unknown entry
3.9
A front runner
4, ®

Question Number : 77 Question Id : 4771873291 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. #

maintenence
2.¢

exclamatory
3. %

colleague
4. %



Question Number : 78 Question Id : 4771873292 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :
Conversion of agriculture into forests land is weakening India’s monsoon.

1. #®

Conversion of forests into monsoon land 1s weakening India’s agriculture.
2. ®

Conversion of monsoons into agriculture land 1s weakening India’s forests.

Conversion of forests into agriculture land 1= weakening India’s monsoon.
4. ¢

Question Number : 79 Question Id : 4771873293 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday,
Choose the correct option to complete the sentence.
Options :

wasn't it

1.+

1=n't it
2. %

1s 1t
3. %

was it



Question Number : 80 Question Id : 4771873294 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him., he herself picked the bag.

A B C D
Options :

A
1. ®

Question Number : 81 Question Id : 4771873295 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’'s were very energetic and eager to perform their duty.

All the five men were very energetic and eager to perform their duty.
2.¥

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.

4. %



Question Number : 82 Question Id : 4771873296 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country, people often

Q@:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that they themselves are

Choose the correct option.

Options :

1 P.O.T. RS

P.T.a.5 R
2.

P.R.Q.T.8
3. %

PT.R.QS
4. ®

Question Number : 83 Question Id : 4771873297 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

1. #®

) The wisdom is the gift of heaven.

The roze is the sweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %



Question Number : 84 Question Id : 4771873298 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :
laid
1. ¢

lay

lie

4% lied

Question Number : 85 Question Id : 4771873299 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 1sa/an

Options :

story.
1. #

conversation.
2. %

essav.
3. % :

apeech.
s T



Question Number : 86 Question Id : 4771873300 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner
1. ¢

Noam Chomsky
2. %

Antony EM
3. %

Brendan J. Carroll

Question Number : 87 Question Id : 4771873301 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom, an English teacher should create an environment
that 1s

Options :

focused on writing and giving home assignments.

1. #

strict and following formal methods of teaching.
2. ®

stimulating, inclusive, and focused on student participation.
3.

teaching and learning that relies solely on the textbook.



Question Number : 88 Question Id : 4771873302 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Yes Display

The following theme is inappropriate for the English mnstruction at the primary

level.

Options :

Friendship and Kindness

1.
Sports and Games
2.
Home and School
3.
World Heritage and Culture
4. g

Question Number : 89 Question Id : 4771873303 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. #

express onezelf intelligibly, reasonably and accurately.
2. ¥

assist learners in writing without making grammatical errors.
3. %

develop reading skills through speaking activities.
4. %

: Yes Display



Question Number : 90 Question Id : 4771873304 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choosze the correct option.
Options :

Only the statement A 1z correct.

1. #

Only the statement B 1= correct.
2. %

The statements A and B are correct.
3.9

The statements A and B are incorrect.
4. %

Mathematics
Section Id : 477187109
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187173
Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 4771873305 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rational form of 3.7 is
3.7 st afl&lsapmi suigeuih
Options :

37

100

37

34
99

Question Number : 92 Question Id : 4771873306 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[(=3) X (=4) X (=5) X (=6) X (=7)] =

Options :



Question Number : 93 Question Id : 4771873307 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The population of a town 1s 108090. Out of which 29040 are men and 28105
are women and the remaining are children. Then the number of children 1s
2(H BHTSFHeT WwahHsT blarens 108090. g 5lsv 29040 Guit =y sirssT wHNID
28105 Gui GlusirssT LHMILD WHID 2 sTETTT (& LLHsmSH 6T 6T60 160
(&HLDI65M S H6ITI6IT GTEIT 6001 BN .

Options :

50845



Question Number : 94 Question Id : 4771873308 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects in an examination are 228. If the
average marks of 3 subjects 13 56, then how many marks did the student get in
the fourth subject?

5(h WrsmTsusit sp(f BHiaflsy 4 LTL_Biseflsh GlunHm wHIGLsTSsT 228. 3

UTL BI&%EHhESTAT FTTFI WS OGLeHT ST 56 6Tarflsh BTETETaIF LITL & Fl6D

Glunn w16 LIsHTH6T ?

Options :



Question Number : 95 Question Id : 4771873309 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?

Lilsirsu b LilsiTesrmi & smsir Fnjlwg) st ?

Options :

98

100

23
25

10

11
3.¢

57
59



Question Number : 96 Question Id : 4771873310 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If each side of a triangle 1s %rd of its perimeter. then type of the triangle 1s
P (PHCHTMTSH B 65T spsii Gloum (| LSS (PLD B SH6IT D Demerlsd % U@ srentlsd
2|3l 6TauaUsNS (1psGHTswTID.
Options :
Isosceles
B HFLUSS (psEHTemTD

1. ®

Equilateral

FIOLIGS (PphGHTemTLD
2.9

Right angled

GClFmGsTenT 1psESTeMILD
3. %

Obtuse

sl 1G& remr (LpshGamemrid



Question Number : 97 Question Id : 4771873311 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following number i1s divisible by 6?
LilsiTsu(BLD sTeuTa EhaT 673 6 =60 15 Flullsity)! suBLBHID?
Options :

179184

Question Number : 98 Question Id : 4771873312 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of millimetres in 100 Kilometres is

100 £1Gsom W1 Lmls 2 _sirer wlsbal 151 L i H6i 60T sTowimsunldhemnd 7

Options :

10°

1. ®

- 107

10°

3. %

10°
4.



Question Number : 99 Question Id : 4771873313 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges in a tetrahedron 1s

Sp(H BTsiT(pss Slanrindglsd 2 srer aflaflibLssiflsiT sTsmremnt|ssns
Options :

4
1. %



Question Number : 100 Question Id : 4771873314 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A 60cm long wire 1s used to form following shapes. Which of them will have
shortest side?

60 GlFsitig Lf1" L BsmpsiTemr sbLilemiudg GlsTar® o (Haursslupin UlsiTalmb

8119 EUEIHSHET 6TH] (HMMBHS 6D GlETenTL LUsSH5mBS5 olsTarL_| 7

Options :
a square
FHITLD

1. ®

an equilateral triangle

FOLSS (LpdhGCHTemTLD

a regular pentagon

P(pBIEF 2onGsrenTid

a regular hexagon

PUPEBIFH M GHTemTLD
4.



Question Number : 101 Question Id : 4771873315 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

38x38Bx38—-26xX26Xx26
38x38+38x264+26X26

Options :

12
1.

144
2. ®

64

1728

Question Number : 102 Question Id : 4771873316 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The ratio of the cost price and the selling price is 8:10. The profit percent is
P EP I I
I Lssallms wHmib allhusner ailsnsusstist ail#lsin 8:10. sreflsh Fsoru
FHa FLb

Options :



Question Number : 103 Question Id : 4771873317 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s NOT correct?

Lil 0T 61 (s suTeu D MUST 6THI Flwsvsn?
Options :
S
15 tenths = =
10
15 - - . 3 — E
- LIS HI60 spaiT M 6iT F
3025 grams = 3 kilograms 25 grams
3025 Frmbsst = 3 FGaurdlrrd 25 Frrib
2. ®
Area of a rectangle 4.5m x 0.5m = area of a square with side 15cm
4.518 X 0.5 1f gysmeysmLw FxrsSleir urtiy = 156lF. 16 uss
S STEYDL_IL FHITHH 6 LITLIL
3.9

0.016 =16 x 1073

4, %



Question Number : 104 Question Id : 4771873318 Question Type
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The place value of 0 1n 2225.106 1s
2225.106-50 0—-@)sir §)L_w iy
Options :
Hundreds

L% RT I} FsT

Tenths

LIS F]60 spaiTmIs e

Tens

LI | F 6T

Hundredths

RIrMls spesTmISsT
4. &

: MCQ Option Shuffling : Yes Display



Question Number : 105 Question Id : 4771873319 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
. 1 . . . .
Ramu gave his sister = th of chocolates available with him. He gave his brother

2 . .
= rd from the remaining and left with 48 chocolates. The number of chocolates

awvailable with Ramu at first is

Brrop osusats FEHETHTHGHS Seiter_(psTer L L TS EHsiT éu@ﬁiﬁmmé&

C&ETHSBTSIT. SsusTsl FEHETHTMISE L H(LpsiTar uj'h'_:_milas@sir% L& F6m L1

Gxrhss Llsiry 48 FrsGaul_ssir 165 1psirsrear starflsh rrpaili b 1pssdlsd
BmhHs Cwrss FréGsolH s

Options :
240

2.

360

480

Question Number : 106 Question Id : 4771873320 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following numbers is divisible by 2, 3. 6 and 8?

LilsiTeu(HLD sTewT S EH6T sTHI 2, 3, 6 wHmMID 8 g5 suFHUbHID?
Options :
24810
1. %

43888

3.¢



Question Number : 107 Question Id : 4771873321 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
4 men can complete a work in 24 days. then 12 men will complete the same
work in how many days?

2 Causmsvsmi 4 waflsTssr 24 priseflsd ClFilig) (pigliuf steflsd 12

et BT 6T 935 GCausmsvsniud GIFIIF| (plys5H THHENAT HTL SH60T 2 HLD7

Options :
12
1. %
2
2. %
3.% 6
8

4.



Question Number : 108 Question Id : 4771873322 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
35m? is the area of
- z E 3 :
356 sTeiTLIZ) LilsiTa (HsusiTeum 1360 6TH6IT LITLILIsTaY?
Options :

A square having side 35m

3510 @ USSITS 2_sHL_IL FFHTID

5 squares having side 7m each

TIf 2 USSLTS 2 WL 5 FHTHISHET
2. %

35 squares having side 1m each

106 2 usswWTrs 2 snw 35 FHITrBISsT

7 squares having side Sm each

Oif @ USHWTS 2w 7 FHITHISST

: MCQ Option Shuffling : Yes Display



Question Number : 109 Question Id : 4771873323 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands § hundred sixty-nine in numerals

can be written as
3 GaryGw 6 Gl F55 4 uilrss 8 HrHm HMILSH PTUSHI- 65T STHTDI(H
Options :

30604869
1.

360400869

36004869

306048069
4. %

Question Number : 110 Question Id : 4771873324 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

(32)3 Ly

Options :

38
1. ®

63
2. %

92
3. %

5

4.9



Question Number : 111 Question Id : 4771873325 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

; sy Do
There are 72 students in a class. If the number of boys 1= - times the number of
girls, then the number of girls 1s
2 suFLiLilsh 72 wmemrsudHeir 2 _sirewsart. Fmisui seaflsit sTeirsmnt|%Hsm s

3
F sl flsir eTeiemtlssnHenwis GLimsd = LOL Tl @ 6Tedlls0 Fm) L)% el sbT

T 30T 60T | & 61 T
Options :
27
1. #
45
2.
32
3. %
40
4. ®

Question Number : 112 Question Id : 4771873326 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of points present on a straight line are

2 GBT GHTL_1360 sHLOMhFHISTET L6iT6M%5 61T 65T 6T60IT 603115 61 %

Options :

0
1. #

3.

4. %



Question Number : 113 Question Id : 4771873327 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s an even integer when 1 1s an odd integer?
N pm enemm (pupsurs B HE G0 lurips LsiTsu msusmsum nisT sTH sp(H
Brism qpap?

Options :

5n + 8
1. ®

3n®+5
2.

3n?+4
3. %

L e o



Question Number : 114 Question Id : 4771873328 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
If sum of prime numbers less than 25 1s A and mean of odd numbers less than
. A
1015 B, then — =
B
25 2 sl & Hsnmaursr UST sTarsetlsir FfFsw A wHmib 10 2 el APlw
A
pmenm sTeiTHesir Frmar] B, srenflsd = STEITLIZ| =
Options :
20

18



Question Number : 115 Question Id : 4771873329 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematics?

LilsiTeu HeussTeum misit sTH Hewf 55 Her FlwsbLilsmerd Fpriurs allsurflsSng ?

Options :
It involves abstract thinking and logical reasoning.

Bzl i FHSenaT WHMILD STHS FHILTHT STTONHMS 2_sT6emL_SH LR
1.

It 1s limited to solving routine classroom problems.
SIS S LOTET 61 (FLILISHDS HmTdhHFEHSEE WL [HIb Fiey STswr

W HUufbSsIn
2. %

It 1s exclusively concerned with principles.

@zl pHplab $5515uBEGerTH L HGW GlSTLiysmLwg.

It 1= a language used only 1n art and engineering.

. FO® wHnib Gurpluilwslsh vwsiTuRSSOILEID | Clwmgl
4.



Question Number : 116 Question Id : 4771873330 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a child is consistently struggling to count beyond 20. what should a primary
mathematics teacher do first?

2 Fwbms 20-&3 Gush sTanmamisuglsh Arwib gemL_SDH sTerflsh (H
GsTL %5 Blemsw Hewlls o AT psedlsy GlFinu Gousirigwg).

Options :
Doing challenging addition problems.

af'r_h@ 19 6TLD T&IT Fn L&D cﬁa‘mé;@aammdf G‘u—:Fu'_mﬂ_e_'r;._gr,si]
1. ®

Reciting the numbers.
6TEIT ST LTSTD GlFiiailsHsb.

2. %

Conduct of daily tests.

Florsm Caiay sTipsF BlFiiHe0
3. %

Strengthening counting skills by utilizing concrete objects.

S CluTHL_Hensrd GlET(HSH] sTowTem) S0 HDsNaT suspILILI(hH 5] H60
4. v



Question Number : 117 Question Id : 4771873331 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A rubric 1s:

rubric sTefrLIg):

Options :

1. %

3. ¥

A standardized test prepared by the experts.

BILemTI S6TTs0 2 [[euTsSOUL L §F Sruubhssaulr L Gxisy

A multiplication and division trick to answer within seconds.

GIBTIgLGuTSlsy allmwefls G LRSS0 LHNID aIFHSH0 WHB).

A scoring guide that provides criteria for assessment.

ojsTal L1 NFTET FnDIFHENTSH H(HLD HewTdhs L1 NSTeT sulflaTiig Gwi(f

A graphing tool to solve algebraic equations and algebraic problems.

@ whsenils FLATUTHSST LHDID B WDHHTSS HenTsFHBEHEHS FT 6y
ST (T sUsHIULH 55(.-_T;.61'i‘|



Question Number : 118 Question Id : 4771873332 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the features of mathematies listed in A with their corresponding actions

in B.:

A wilsysirer HemflssSlsT @) wsvLHsmer B-sv 2 _sirer FAlwrar GlFwsy L sT

ClUTHHHIH
A
A)  Creativity i)
uUsm L LurmhHmsy
B) Analytical Thinking 1)

LGS5D] Fbsmer

C)  Communication 1ii)
LTy uB S5
D) Conceptual Understanding  1v)

CAUEEARBLIE TR

Choose the correct answer
sriwrsT aflshLemws CsTH65HSS
Options :

A-1, B-1v. C-m1, D-1

1. #

A-m. B-1 C-11. D-1v
2. %

A-1i1. B-1, C-iv. D-n
3. ¢

A-iv, B-1, C-in, D-1
4, %

B
Breaks down problems logically
FTES THIWTH 60T FHSEDET
(Ur&ssmemssmsm)l U 560

In-depth content knowledge

S LpwTeT UTL OGluTmsT 9 nlay

Uszse innovative methods

L ZI5M LOIWITET 61 0N (Lp s DB Em L
LI 65T L (Bl &1 H 6D
Explaining mathematical 1deas

H5Wi1%H FlibBHM T HeMsT 6l6imds 560



Question Number : 119 Question Id : 4771873333 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The instructional objectives are:
I DaniS5s0 GHTSEHLD eTaiTLISHI
Options :
More related to classroom teaching.
v alFliusnns sHDCTH 9Fs GlsTLTemL WSl
Achievable 1n the long term.

BTl STe0LIGUTSS 0 SenL_IUS Fnlg LIS
2. %

More abstract.

il &F 5 (5% B0 TTH

Not measurable.

Sjerail WPy UTs5]
4. %



Question Number : 120 Question Id : 4771873334 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess, "If a square piece of paper 1= cut diagonally,
what shapes will be formed?"

2(H Y FATWT wrenTsuiSaflLLb SenflssdF GlFTsLSIDTT, p(h FHITS HI0T([H
STHSSH sne cpsmev el L 1D suflwrs Glsul_Beusrs & 6lsTsirLmev

2 (HEUTHLD 6119 6UBIFH6IT 6T6H 60T 7

A) Two rectangles

3B)(m GlFsieusmsHsir
B) Two circles

@)m sul_L_miseir
C) Two triangles

3/ (1psCHTemTHIS6IT
D)  One triangle

2(H (1psHESHTewTLD

This question relates to this academic standard.
Bsuailerroursgy FHs ssvalls srHsmevming Gty uBSHA DS
Options :
Connections

@ﬁ'ﬁ)&'ﬁ'ﬂf}gﬁb

Visualisation

ST FAUUBS35IF60
2.¥
Problem solving
U r&FFenairs smas @5 16y ST am)Hs0
3. %
Reasoning and proof
LGS0 wHnib BlepLilsssd
4.%

Environmental Studies
Section Id : 477187110



Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187174
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4771873335 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Plants can be classified into the following categories
STeurmissnstl Lilsiteu{o Lflayseaflsh susnsliufsse0mLD.
Al herbs

eLpstlem & & 6i

B) shrubs

LSBT HeaiT
C) trees

LD [T ™l & 6T
Choose the correct answer

Fshiwrer allsnLsnws CsiH6sMH55

Options :

A & B only

A& B wr_ b
1. ®

B & C only

B & C wi @b
2. %

A &‘: & Olll_v
A& Cul@uw

AB&C
4.9



Question Number : 122 Question Id : 4771873336 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Riya often peels vegetables like carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible, as it helps
improve digestion. The food component in the peel that is likely the reason for
this advice 1s:

fwr Gsri wHmih GlausTerflésTil GUTETD STISDHensTF FenOLILSD &
(1psit GHremsw 2 FILILITST. BsuEHsn i S FATwT Fsunsnnl LsTU(HlS b
Gurg GsrGsur® LwsTUBSSHIbLLY 9y DaynisSlarTi. sThlaraflsh 95
grompmg CubuBsgid. b5 ADVYDISENEGS Coellsd F)GSGL ThHS

2 &6 & Fn )| & TT&0TLD T (FHLD.

Options :

Protein

YTsF 553

Fiber

jﬁur.i'-f}er_e_ia Hl
2.9

Fat

ClamplyF F551

Vitamin

smeul_ L 1flsir



Question Number : 123 Question Id : 4771873337 Question Type : MCQ Option Shuffling
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the correct statement about hermaphroditism
A muredlsnpw upPlw FAWTeT FDswns STl D)%,
Options :
Hermaphrodites can only reproduce asexually.

@ mursilsst ursypailsur wsnpullsd wi” HGw a6l mssD

GlFuiw pig ujib
1. #
All animals are hermaphrodites by nature.
sTsLSUT allsuBl HH e FwsursGsu 3) mursdsar.
2. %
Hermaphrodites possess both male and female reproductive organs.
@) mursdlssir gy s wHDID Glushr FarliblLFEs 2 mIriLSsT
@) rewrsm b Gl menT (RsiTamenr.
3.¢¥

Hermaphroditism oceurs only n plants.

L% @) mursflssit STeurmisei sy WL HEW 2_sremer.

: Yes Display



Question Number : 124 Question Id : 4771873338 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary purpose of rearing the Kangayam bullock is:
STHRIGHIWID 5TeN6THNST sUsTT LIS (1LpSeiTsnDITer GHTHSID:
Options :

Racing
L L OuUh& Wi
1. #
Milk production

5 % UTE 2 HuSF]

Drought work
3 suUDL_FL1 Liewst|HsiT
Wool production

sibueaf] wullf 2 Huss



Question Number : 125 Question Id : 4771873339 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the device. commonly used in industrial chimneys to reduce air

pollution by removing particulate matter from flue gases, from the following
ysnsuwiled (H551 auflh sp(h alls STHNI WTMFS HMDUUSDETHS
GaTfHFrensusaflsy GlUTHauTHL LWsTURSSULHID FbsifHeflsh 2 srer
& madlsmws Llsirsu Hsusrsunlsdl mbg) Sl mls.
Options :
(Gas turbine
suriy aflsnFLGlLTl
1. ®
Electrostatic precipitator
” BlsmsvLlsiTest sk aif1p Lig sumrdH
2.
Heat exchanger
Gleuliub uflrHo!
3. %
Blast furnace

4% GlauliLg STHmisns



Question Number : 126 Question Id : 4771873340 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Testing for the presence of starch in a food item should be done on:
@i 2_swreyGlLTHaflsy wrayiGluTmsr (svLmis) @) mriusnss S mlujib
CrraemareniudF GlFilsSTalg:
A) Coolked food

FeMIDSHSH 2 emTailsD

B) Raw food

uFenFWTeT (FemSHILL TSH) 2 swrayls GlumHarsd

ChGDSE‘ the correct answer

sriwrsT aflsnLemws C5TH6l5HSS

Options :
A only

[ % A wi_(Rib

B 0111_1'

B wi b

Both A & B
3. ¥

Neither A nor B

A wyib Blsvsmsv B wyib @)svsmev



Question Number : 127 Question Id : 4771873341 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

wenf|% wriLilsir @) reinr({ uSSBISHaisD 2 sTem alls0T 6T6)ILDL| S 6 siT

ST 63T 5001 &5 5 &
Options :
13 ribs
13 alsor sTapibL e
1. #
12 ribs
12 silsuT T8I LS 6T
2. %
11 ribs

11 aflsor sTenbLyssir

3. %

10 ribs

10 alsor sTaILbLySsiT



Question Number : 128 Question Id : 4771873342 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The balance of oxygen and carbon dioxide in the atmosphere is maintained

through:

SUTILOSHTL 605 F]60 2 el 26T WHMID ST LsT-a0 -9, SN FIg 60T FIO Z6Tensud
s_(HUubSsHiaugl:

A) Respiration — Plants

FOUTHFSFH60 — FTeUTBIS6T
B) Photosynthesis — Plants
el FGFTHeNS — 5 TouTEISH6T
C) Photosynthesizs — Animals

el FGFTHms — alle0slFH s

ChODSE‘ the correct answer

Friwrer eflnLsnwd CHiH06l5MHES
Options :

A & B only

A& B w_(pib
1.v

B & C only

B & C wi
2. %

A &: C Olllj.'

A& C wl@uw
3, %

L% AB&C



Question Number : 129 Question Id : 4771873343 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following declared a ‘no drive zone’ within a 2.5 km radius of the
Taj Mahal?

% Lpsu(HsusrsunMlsd 6THl STRWwHTO0 HBEH 2.9 A.16 #NDaTaysh GlsTamsvailsd
susiiy LU Heusnss salliss Gausnrigw LGHF ster gyolallss51.

Options :
Archaeological Survey of India

Bhgw LlsTs06 LT (T 2y iy HsHIsmm

1.
(Central Pollution Control Board
WS wrESSL(HOUTL(HS &(1pLD
2. ®
Supreme Court of India
B bswrailsit 2_FF B FwsiTmib
3. %

Mimistry of Environment. Forest and Climate Change

@B = TFleT FHMIFGSHLSY, suaTD WHNID STe0FHsnss WTHD

I WD FFHLD
4. ®



Question Number : 130 Question Id : 4771873344 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water iz available in the form of ice and

snow?
wlwsd @) ma@Hh sy usilssl 1y wHmih ustullsr Ulsiter gyerey?

Options :

1

10

w |

@ |

w | b

4.



Question Number : 131 Question Id : 4771873345 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement regarding renewable and non-renewable energy
sources.
yasiiiésssss wpnih ysiillss Gusors sTllFss] ppsoBisensm LUn i
FTILTET S0 DHeNDS HeWTL DS,

Options :

Renewable energy sources are always more efficient than
non-renewable spurces In energy conversion.
YHIUL&EsE555 sTilFss apsub sTUGUTEHIGH yHulss @ wers

sTflEsglsnit sl sTflFsglsnw wrHmisuslsy Apriurersl.
1. #

Non-renewable energy sources are infinite and can be replenished
naturally within a short time span.

yaiilss Fuaors stflFss ppsulh BlenDI 2 sTaTSTs) (&HnISIW
) % 5T0535 GG w wmn Brlf® GlsiiwsoTib

Both renewable and non-renewable energy sources emit equal levels of
greenhouse gases during energy production.

sTflFs3) SWTHSHD GuTs YHIULsEsss55% sThFE5 LwHNID YHLLEs
@weors sTFES @ renr(HGw FlFwwTar garails) Ussnw Fsdaor
suTismsu Gleuar Gwm il sirmer..

Renewable energy sources include solar, wind. and geothermal. while
non-renewable sources include coal. oil. and natural gas.
YaIuL&sssss eThlFss), &I, sTHnl wnnib yaf Gsuliunb GFrbssl,
yauiés Guwsrs sTflFss Blsodsst, sTaurblsnril whHnib @unsns

W surw| Gxibs5l



Question Number : 132 Question Id : 4771873346 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following food items help in increasing the quantity of blood in
the human body?
LilsiTeu (LD 2_smTeyll GlUT (KL _S6is0 eThS spsitmy Wwenlls 2L sblaisirsm (3) 1555 5!60m
Sjemsvau YFSIUGH 5550517
Options :
Chips, soda. and white bread

Fvsn, GFrm, Blsusitemsr Glymiig
1. %

Peanut bar, gingelly bar (Til), and eggs

SLemeL LWL LTI, 6TeiTEH, [3)6hF WL LTl wHoh 1pLrsnL_Heir
2.

Picltles, fried snacks, and candy

ssrmismill, GIUTTS5 Slsirueawr b wHnID WL Tl
3. %

Instant noodles. coffee. and sugary drinks

2 L ey HrHsvsi, TUl oML FTESMT H6UHS (&g LITETLD.
4, % )



Question Number : 133 Question Id : 4771873347 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1565, the five Bahamani Kingdoms joined together and defeated this

Vijayvanagara ruler at Rakkasi Tangadi war

1565-@ev TrEsTH SEmsSTY GUIT) DBHSH USTIDET (PIYILITHSEHD PaiTH
Cripa allFwpsanr g arL @55 U Awrsrenrs CSTHS1y 5 He0mT

Options :

Achvuta Rava

Sy FFTIAWUT FrwuT

1. %
Aliyva Rama Raya
g efl FILT FrwuT
2.
Venkatapati Raya
QeumisL L% rriuT
3. %

Saluva Narasimha Raya

FaViay BTFLDS TTILT



Question Number : 134 Question Id : 4771873348 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainiam, the Rashtrakuta rulers
were
Lﬂuﬁm@mmbﬁj@sﬁ (PSHESTeM LI TS FLDGWTLD HH W H L Lﬂsﬁru@@m TT6igig Tdm L
= T F BT
Options :
Chandra Gupta II and Udayana

FhArwpusT 1L wHmib 2 sHwerr
1. %

Kharavela and Samprathi

srrolsusor wHmD rebllrGsarels
2. ®

Hamundaraya and Kharavela

5 % anIpBESmTILT WHMID SrEsvsur
Amoghavarsha and Krishna IV
9 Guwrasiagr wHnib Almsigsmnr [V

4.



Question Number : 135 Question Id : 4771873349 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1956, the number of States and Union Territories created by the States

Reorganisation Commission

1956-@)s0 wrplsy wnIFTeniolil] S,sNswTIlSHT6) 2 (HauTHSOIUL L TRV WH LD

WL, 60T WISBT LI (%35 61T165T 6T 60T 5001155 69 5
Options :

14 states and 6 Union Territories

14 wrplevBissr wHMIL 6 wWeaThusT LS Hsr
1. ¢

28 States and 9 Union Territories

28 wrplsvsisst wHmib 9 wyeflsit U glssT

18 States and 7 Union Territories

. 18 wrplsvmdissr wHmb 7 weflwsiT LEgssr
3.

20 States and 8 Union Territories

. 29 wrrplsvEISsT wHnID 8 wysswsiT LE S Hsir
4,



Question Number : 136 Question Id : 4771873350 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the Prime Minister of India between 1989 and

1991
1989 pssd 1991susmi Lilsirsumusu msit spmsut F)bSws Urswrrs @) messailsens
Options :

LK Gujral

2.G5.Hmrme
1. ¢
Deve Gowda

Gseu Blsar_m
2.

Vishwanath Prathap Smgh

aflswsuprs Ulrsri FE
3. %

Morarji Desai

L Gurrred GasFmi

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question
if any of the correct options are chosen.



Question Number : 137 Question Id : 4771873351 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is the aim of 427d constitutional amendment of the Indian
Constitution
LilsiTsu(msussrsupmisir spsdtmy @B o rFwsvsn iy FLULS5)sT 429010
S rAwewiys FHs5535 6 GUISGsTer
Options :
Making the Judiciary subservient to Parliament

& HIsmmsm UL UTTTERLWTDSS NHF GFemsy GBlFuinus GlFuiss0
1.

Enactment of the Official Language Act
S TFwssnlIYF FLU L Sen5 FwmmiHs0
2. %

Bringing Education Under Fundamental Rights

. sevallsmit gy litenL 2 Msnwullsit £1p Glasmer (hlsumHs0
3.

Strengthening the State Government vis a vis the Central Government

IS STsMFILD WTH HTenFujb priyESHTéEAIl UsoriLhSHIH60.



Question Number : 138 Question Id : 4771873352 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rawi 1s travelling from New York to New Delhi by Aeroplane. Then Raw

rail BlyywritsAlsdlHhal Lgigsvedls @ alwrardslsy uwsnisAnrt at6lurips

Options :
loses time of 4 minutes as he crosszes every longitude

aublauTp FT55 Cravsmius sL_&Fh Gursib 4 B0l Bissner

% BwsAmmi

gains time of 4 minutes as he crosses every longitude
psuGlaur(f FTd55 Gransamiusd sLs5GWw Gurgih 4 Bl BissT
" 9B HWTH GlumSnmi

neither gains nor loses the time

ETsVSHMS Fpssalb Fsmea Fm HS0THL Blunajb &)svsns

almost losea 24 hours by the time he reaches New Delh1

Saut gl sefleninF GlFstnsnLwjb Surg) sTna@snnw 24 st
Crprims Fphsmi



Question Number : 139 Question Id : 4771873353 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau
Hasrent LTy uiluillsr SlpdE allsflibUlsdmhEa sumh @)HS wensvd6ls T issr
Options :
The Satpura Range

FHUYTT Wemev 56l STL_TH6T

The Mahadev, the Kaimur range and a portion of Maikal Range

W&TEH6k, sllsapt GISTL TS WHMID swiEsD GISTL 6T sph LIFHI)
2.9

Western Ghats

Cun@ wemeas6lSTLTH6r
3. %

Nilagiri Mountain Ranges

4 % Bl wemsvs56lSTLTHs6T



Question Number : 140 Question Id : 4771873354 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In India, the major tea producing region among the following is
Ulsirsumeusstsup mist @ HHwrailsd galswrss Gsullsnsy 2 Huss! GlFiliujb
UGS
Options :
The hilly regions of Assam

L S| FTLOQISTT LeNeVLILIFHS]

The Baba Budan Hilly Region

LUTUT LL$60T L0eneOLILI S

2. ®

The Nilgiris in Karnataka, Kerala and Tamil Nadu

STHTL&T, GHTerT WHMID SL0D BTL_1ga)siTar B soF Tl L@ S SHseir.
3. %

The Andaman and Nicobar Reglon

9B BHLDTST BlEEHETUTT LIEHIH6T

: Yes Display



Question Number : 141 Question Id : 4771873355 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main objective of Integrated Watershed Management Programme in
drought Prone Areas is to

Abzlwurallst supl Fwmsd UTHSSUUL suTisTer UFESsluilsy muFlansnThs
B susr Gusursmreniod S L SF6T 1psHlw FH1SCHTsiT

Options :

Strengthen the community and enable them to plan for proper
utilization of natural respurces

FIPSTWSMSL UsOLILIRSFHIH6D WHMILD SjsuTHsT FIIMNenS 6U6TE FHenaTF
Filsur LwsTURSSHaNSHSH HUL 1EH S0

1. ¢
Provide water to drought prone areas continuously
DL FWTe) UTHSSILL suTIILILsTer UGS SehsGHs blsrrFflurs
BT 6uLpmI 56

2. %

Undertake plantation in large scale

3 % Gurlw gysrailsy uuilflBHSs0 sThHmIE GlETsiTaTsy

Encourage the farmers to undertake community farming
FupsTil aflsusFTiusms allsusrullsafilib sard Hal 50000 sTHII
BL-SRISILD



Question Number : 142 Question Id : 4771873356 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bhakta Prahalada, the first talkie movie which was released in 1931 was
produced by
1931 @lsv Geuafluili i’ uss Ursersr sTern  pHsorsugl GUHFID
UL mss puThsut
Options :

Raghupathi Venkaiah Naidu

THUS Glaubisnsiw BTy
1. ®

Edida Nageswara Rao

6TI3HT HTGHSV6UT TTa

Hanumappa Muniappa Reddy

ADSYIOLIUT (pafwiur Gy
3.

M.V.Raghu
sTiD.&\l. Gl



Question Number : 143 Question Id : 4771873357 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
To spread awareness among daliths by using Popular Folk Arts, Bhagya Reddy
Varma started

$550% wasaflsnL_Guw YsptluHm Bri@uyp Blslp Senssr HD55

sl emrismeults UTtiysusn @Bl urswr Gl iy sufwr GlsrBidwg.

Options :

Adi Hindu Society

%19 BHg FupSTwLb

1. #
Jagan Mitra Mandali
&6 WISTT WweirL_sf]
2.
Satya Shodak Samaj
FHWT GoagrL & FrD
3. %

Sharada Sadan

FITHT FHT6T
4. %



Question Number : 144 Question Id : 4771873358 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This amendment made to the Indian Constitution says that “the state shall
provide free and compulsory Education to all children between the ages 6 and 14
years

rEBSHT 6 1560 14 suwglnFlen L GWwjsTsT sTeOsUTS FHLPH WS H EiHS FLD
Bvsuss s LTS Hevall ClaTHEs Gausr{ib sTarmn oTFsvsnlilF FLU_L &5 T

AB35 FHSSLD s nIADSHI.

Options :

61% Amendment

61-gb FH55L

1. #
4274 Amendment
42-o410 FlHH 510
2. ®
86th Amendment
86 -g41b FlHS S0
3.¢¥

10224 Amendment

102 -0 FH550
4. %



Question Number : 145 Question Id : 4771873359 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a science lesson, Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning
Interaction is primarily being emphasized in this activity?

g plaflws ure sugllsh Fmwg Ul GL s wrenTsuTsaflib m Fn Hupsurs

uibs s/ ufGFTsmareanwd GFgm HH GYU55 SOBSMHILTLS
Csl (s GlarstEnmi. @HsF GlFwsOUTL 196D sTHEH5mMSIW NN [F)swL_ailsmesr

pSsTemwTs susfliynssULhans?
Options :
Student—Content Interaction

wrenTsaui—UrLLu@s &) snLallsnear
1. #

Student—Teacher Interaction

wrenTsui—g,Fwi Flen L ailsner
2. %

Student—Student Interaction

W TenTaui—LoTemTeui (3)smL_ailsnsr
3.

Teacher—Content Interaction

G FAfwr—ur rinEs @) snLailsner



Question Number : 146 Question Id : 4771873360 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s least relevant when evaluating the effectiveness of a
science period plan at the primary level?

GlaTLss mameoulsd, gynalwss urL Gausmsrsd I L HemssF GlFwsbaisnsray
Sy riusnLullsy wslilRbGursl, Ulsra HausTauDmisT sTensy &S (&6 e Tar

GlUT(HSSpeTarS TS BemIDU|LD?
Options :
Motivation of students in the teaching-learning process

HFNMeD — SNLISH6D BlFWOLIT(HH6T0 LOTMTeUT Hen6T 2ard (5 ailHH6b
1. #

Clarity in explaining the content
uTL L uFSlenid aflers@Hauglsy Glsafay

2. ®

Effectiveness of assessment methods

wHNTL B wpswmsaflsit GlFwsb ailsnsrsy
3. %

Teacher’s dress code

g FAflwitssiflsir g anL afl$lwpsnm
4.+



Question Number : 147 Question Id : 4771873361 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An EVS teacher, Kalpana, always encourages her students to decide the final
result not with a single observation, but after making several observations.

This 1= called:

ssouert staitp EVS g Aflemw stiGlumupsibd wpiy BlsuBs @ Gurg
@A mizlpigsnsu siTenD WL (RID HeuaThHd s BlE&Tsnr(h) sT(HESH T LssuDsn DS
HeUTSH B 60 Bl Tl (h) 6T(R55Gsusinn (HILD sTTM] LOTemTou TS smem
st S LILIMSHIuTT. @5 B)susuTn gsnpssluB S nsl.
Options :
Inferencing

DT H LD
1.+

Classification

“ auem &L LI () S FHiHsD

2.
Prediction
5600113 560
3. %
Questioning

Casirad] GaL_Ls0



Question Number : 148 Question Id : 4771873362 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005, the following are to be taught in Environmental Studies
at Primary Stage

NCF-2005, @)sitr uig Ulsiteumsusmsunmls GFTL &%5 Ssvalluilsy &Hm)FELps0
ssvaililsL sTeiTer SMHMIS FTCoUT(HILDL?

A) Environmental Protection

FMMIFEF LML LITHIHTSHH6D
B) Poverty

&M M) sW LD

C) Child Labour

BYbmsd Clmiflsorsmi
D) Ihteracy

uig Uiy e siTam Lo
E} Caste and Class equalities

FTF WHDID suTHS FLOBEH 6V
Choose the correct one

FHWTaT spsitenns CH51H 65 HES
Options :

A, B.C.DE
1. #

A.B.C.Donly

A B.C.D w (b
2.

A.B.C.Eonly

A.B.C.E wr G
3. %

A, C, E only

A, C.E o
4. %



Question Number : 149 Question Id : 4771873363 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The lesson — “Child Rights” — was developed based on the following theme in
Environmental Studies

FOHMIFFLps0 Hsvalluilsd LlsiTeusy b sTHSS 5 mHLIGILTHT g lusnLwilsh

‘BUubms 2 Mfenwssr — UTLID 2 (HauTHSlUl L S

Options :
Safety
UTHISHTLIL
1. ®

Food, Health & Hygiene

2 _smTey, 2 L 60 HeULD WHMID HTlsHLD

Values and Rights
sl LBl BIS6T WHMILD 2 lsw oS 6T
3.9
Trawvel

LI W swT LD
4. %



Question Number : 150 Question Id : 4771873364 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following activity will NOT help the teacher to create the effective
EVS (Environmental Studies) classroom environment
Ulsiteupie GlFwsUTHS6T suFliusnDF @Fpsflsd GIFWATSESIOTOT FNMIF FLp60
sevallenil 2 (Hourds o FAWTSEhHsEF 2 Heaurg)
Options :

Discuss m groups

&Hpallsd He0bFHIemTILITL 60
1. %

Think and Say

) % FBIISHS mmiFDd

Collect and Record the information (Tables)

FHousDBmarsd GFa 550D LFleyGlFISaID (LI 1y w160 SHs6iT)

Reading the books
g;ﬁs'ucmm ITLI qu’gs‘u

4.



